meftsft siaTt o= FRYZ-gUt

Machine Parts Subjected to Twisting Moment

uesl 1. Rued (Spindle) & HHMZTI

Jae  fivsd f s B R @ W ¢ S e weie Siem ¥ iemY a1 % e
FA T S-S 9 &1 figed, fgat weiia foaga anfe)

ged 2. WWYI (Torsional relation) ﬁﬁ‘lﬁ‘!l

qﬁgm_l__“:_q___q C D
3Tt - ;
.

l r R
gee 3. Yuel & fesmg faam yer A fsan sar 87
JaT W F feoed 1 R @ foRar s @ *
(i) I ¥ SER W A (i) el % SMER W Q

U2 4. YUl gedl (Torsional rigidity) &1 aeqd [
3dT  IUH ggal F1 aed WIS % Ufd W &l T IR 1 7S HI1 6 ERT FER|
faan ST

Ugel 5. 31 Ul WEdt XM L3 (transmitted power) & folu =iwis fofEm
- 21 NT ‘
P= w

60

521 6. et praeiar R pueetar R § tF =R T8y

U2l 7. UHU (proof resilience) #I gRyflg FIfQI
Tt forequr & SHfeeha™ Sheg! F S e el fafa Sl w1y fafa
> 3

\WWW(proofload)@mﬂm%?
7 TR T aTel 98 SAfyehad IR fSed fom ¥ wrE fawuer 1 9 v wR seem 2

x:; . UHTOT 9frae (proof stress) ) THIST|
AT R % AT W o § 3yen sifusan fed, YT Sfeee weedr 2

g2l 10. dgad & faa yeR & g 87 9w faRaw)
3l '{Tﬁaﬁ e (composite spring) =1 2 wFR F e %

(i) Foft de fosm qn (i) GAR E@ge fem




qReT 11. W(key)%maaﬁql
K{o b4 ﬁ%mﬁmwwwmfﬁz%amm% S 2
U= 12 F:ﬁ?ﬁa(key seat) H?ﬂg»_vﬂﬂ'ﬁf(key way)a'fl gﬁ%
JTT FﬁW%WWWWHWWﬁ
PIET T W HSft e qen g F FreT W @ 21
3T 13. w%m%wm» | |
34z (1)WW (i) % , (iv) T S0 a9 (v) Tz Fofh

Ues] 14, Aed §
a




. TR T & RIS &1 71 gy 2?7 7RI Ty &l S0P Udle & |
What does it mean by simple or pure twisting2 Writ ting relation
with their symbols. Y\
3UT 9 fhdl AR A T R Had Wrg-yof (%ﬁ@t r torque) & T HaT € A H

T g3 WA ST Tk A 3 T H e e s Sl
(torsional shear stresses) & 3/ 3] * w PIGE Y]

HIERTTEn ST6 el 1 ¥ B § ST €, T 3H TRYUT & FHROFIR T AIS-5[01 e
2 forrd s & . BT ¥ TR Tk Wo-He e § - 6 S ¥ 5|
THR 91 ¥ 7 wfqeer s &

(i) &rﬁ (Torsional shear stresses)

(i) FHA~gfdslel (Bending stresses)




S fepel T R wRYE sl @ STAT ATl 1 WA FEd H €l @, @ I T AAHL IR H
mmmélwmﬁmmwmww%
RIS T Torsional Relation THA-T=IH &1 wifd HIg Hrar+ = ¥ &

r_6e_q_Q
J [ r R
W&, T = YT IR A T Wi sl
R = YT &t =
J = YT ] STY-h1e 1 Yo TSl Hoi
G = YT TS F A AH @
[ = YT i TS
6 = IR T AAS-HIT O
g=TTR & &% 9 r W W Afdeied | Q

Q=R ¥ 3ffahaq wfqead, I & &5 § RFY W
2. TMre & uRHRE FReI A fba yeR Bt &t 87 ¥

Define the shaft. How many types are thi lain.
AT IR TR 1 9% S E S IEh Ui ﬂﬁﬁ%ﬁ@qﬁg—wqﬁmwm ot T

21 TrE-ul YRV ERI & WU Vifer T IRYOT A & IR AR H1E FHi el &1 F 3

Tga WrEet AN S 2 g9t e A jegi[oT ST TRl ©

1. URYUT IS 3 ¥, S viferd Eid § Hei i F F HH A S, TR0 I FHEaArd
g1 & Wl W gfert, e qen wiehe B T THF THE IRV HPR WF, AEA

IMF G SIRRR IR (overhead shaft)_: |
2. HENH T A A W T W F Af ¥, R—F5H i Hheh R M

ma.@@?ﬁw%aﬂmugtaﬂml

Explain benefits on s ft at hollow shaft.
JaT  EiEd MR & 39 Ww & o9 T SRR §

1. @REc IR H 9 FH |
2. 9214 F1 @9l FH ol Bl

3. WIEel IR Fi & Bl St 2
4. BrEeh I FH ECASICIRA |
5. @rgelt MR & T foRaret HEfi=t o a1 vered onfg R 1 Tk ®; SR—wwE i
foquea| \
UZd 4. TH (solid shaft) F MU WRAA MG (hollow shaft) B! Rewaw iR wfd

Mﬁl’q Imﬂﬂﬁﬂm (2016)
The stafness and power of hollow shaft is more than solid shaft. Explain.
IGT 319 TR & U WiEel R % fEwAg aur vk sifue St €, 79 a% 9 e weR 9
Ty fFar S Wehdl e—

fad 5.1 ‘@ 9 b | 39 9 W@ A 1S T el SfTaTell 1 AF Fes W YA § &l Jde
W Afeaan | e agcrdl 831 e T @1 Fd S STRW ! WA ¥ Yol FeAd @ fob A Sell
T STATE-FHIE % shrg, ST IR Y 3181 T YT BT & T ST Bt 3 gl g Tl et g
W SfaEad B 21 s ¥ 9T Hde i g8 fra itk @, e San & sifues sfaee Ted

-



W%IWW%WHWW@WW#%@@NW@@&Haf%?l"ﬁl 3
felieRiRILT S e 1o wfe wd w20 H1 A T T St TR F ¥ fo wreet
TS A 9N HH B F 91 9 5 yavsar 2

l§4—
tr
7 5.1 O
. TF & YR, v au vard | ), ue & o ,-géawﬁqaaaﬁam@
TRaelt TMFE & N1 R 3t (Fergui) @t TMYe & IialRs =
B 91E U & Y U ‘n’ 2 z l\
Compare to torque transmitted by a s d a hollow shaft made of one

substance, length, weight, the s am twist-reflexion. The ratio
of the inner diameter of hollow

roportional to outer diameter is

%dlexp=§d§(l—n2)xlxp

d? = d2(1-n?

- d = dp\/(1 - n?) )

%MW%WWWW—WQ%,E@WWWWW,

Th:_Jth=JhXQX2

Ry R,

3G IR gmmﬁﬁw (torque),
' T=JS><Q_JS><Q><2
; R d

j

|
|
!
!



'I;AJ.\.XQXZX dy Js x dg

Th N d » JhXQX—é Jth
nd* 32 _d’.d
=—— X dy X y e A
32 n(dg - d)xd dg(1-n")
= (i) W Zi:do(l_"z)ﬁ
' Ty dg (1 -

i ;12)\/(1 - nz) Ja-n?»
B 2 2y 2

1-n“)A+n”) (1+nQ
: feft wee A Fdf= ufdae 70 Mpa @ 3iftre 7 @R 33 & ferg, *n gamgof 9= IHHT
T 19 ST e B FTFTE 6m gl

Find the diameter on 150 kN-m torque to allow the shear to not exceed 70
Mpa in any shaft. The length of shaft is 6 m

&cl 99 & 3TER, T =150 kN-m = 15 -mm
Q'=70Mpa=70N/|Q§6m -6 x10° mm
e T= Y q, J_T
R Q
e nd’/32 T %d—wwmaﬁnz—é)
iz Q g 2
a0 d3—z>< -
Q v
: =10.91901 x 10°
d mm =222 mm
M BT AP frad vER A 27 gHesu|
How to design a shaft? Explain.
34T IR F AEE 1 TER %ﬂ&m%
1. 9 & MR R IMIE DI 3% 3TId TR W = gensdi § s whisel
faar foan < @
(i) IR W Fad AUe-7oi 2l
(if) IR T FHact TH7-50] 2l
(iii) AH T FYH FIol T-5yot fifa & €
(iv) B Td F99-7 7-[1g I W 3efT R o R W
IHIF SIS il ATH BU HETIHATIR W I & ST Widerel a1 O =1 wam
g;m;mm% ﬁmﬁwﬁmmﬁmwﬁ%mmﬁafwaﬁ
R W GeNgE T W sfqe & fau fre difees g wam s €
; T (d/2)
R H Fdq afderd, g s (T = TIg-¥ui)
e H F5 Afded, fb=M% (M = THI-¥00)
TR § dien ufqad, p=—> : (f = & o)

(n. d%/4)




2. 3Gl & SR W AT B Afebeas e 1 Fasime gl F AR T o Ffn ST 21 e
&t 191 QA THR F gear W fa=ar fFan s =z
(i) YO g@aT Torsional Rigidity H[UI gaat =1 A 7RIS 3 i1 wwe 1 gl & 21 fea ® e
&1 HUIS H1 o F1 g gRT el e © -
gL
| Gt
TEl, T= R W Tg-5uf
[ = YR i oTaTe
J="M9 1 YT gl o
qAq G = VM o 9ard &1 &Had #9S
Fo favm aRftafadl § wre =07 ¢ 39 THR TMT S @
(a) G ffeafaar o, 0 = 1° 3 20d IMF TS, ST d = I &l AH
(b) @A IMRT & forg, 0 =2.5° 9 3.5° 9fd WX IMFRe-TT=TS
(©) 1 qe Y-SR WY & AT 0 = 0.26° Ffd HieX MR- s, (31féehan)
(ii) UTed gEaT Lateral Rigidity S8 gaal &1 arcqd W  faar & 2ran 21 afe wee =i faarg feifta
g Q@ Afaes B, 79 e < 61 St e =2l 21 e qen faafian w1 staere Ff wef-Aita
ST T8 T8 TR T SR TS gEaT 1 Hew TRUT U6 3= M W % for s 2r 2

T ST Ay = O e wer feifa s S @
" | TR o1 3Tfeehad fasy 1

foRIfcT o st - ~ 1200




HRT 10. TS 97 puedhar fam & siefta fawums qun siftresaw uftea ¥ fog sdwie sgea—
SISy | (2010)

Generate expressions for axial displacement and maximum strength of
a close helical spring. |1 qyestion Bank.com



P TP T USRI pushrdt Rein 3 srafta Rdw & R sis e @

Derive an expression for axial defection for a closed coiled helical

spring. _
a1 I 53 % ogER arv & frdt wie W wam ¥ @ el famda famet # e, faed e w
el 1 HIE AU T TN W T Y G A1 e HY A S TN W T W F

W x R HTT 1 T O a1 STl @ S Seyeh STpee) shie 0 o @ S Ay
el RO 6 7 A 01 % ¥ 7 ) form 97 oteq 6 v Twae W g4 2 ‘
G (mean radius) F8Q §1 W x R AF %1 e a0 F1 TOIF T T iR
R H 7S I T 2

mﬂf?,d:ﬁﬁﬁanaﬂamg <:;)
T =W x R = f&m aR W serge a1 wlrs—aemsol
n =90l fom ¥ guefer %t e , o
WXRWWW—WWW,wWWWxR*
Sfdfshan St Sea= g @ S fars 5.3 % g8 Y@ 9K g1 !
W@Wﬁmﬁmmawﬁ&m,a@ﬁ%ﬂ

gefer € sufag quf fom § ot ar % ge s, @

l=2nRn

g TE-gui T8 aR H FAe-FIv 0 21 § 3R T 18fT
foreome 5 21T 7, 1efq 6 g0 | = o1 s 2, 7@ e = forer €

, 319 Are fofa & w

\S}"
[ ]|4l<'
Q N N~ N
2zle 3 2

3

)

W

e

Q
S LN o

q.ﬁNl.

T =W XRHQT l:ann

g o
@,

J =TR B FE H YA Srgar gl
\ | _nd?
A 2
_dr of &1 ggdl HIdTh
ks | 6 = W xR x2nRn
e G x nd*/32

Gd*




o _WR 6AWR “n

ql:g h) =
' wow o Gd
3
a1a: fom &1 T (deflection). 6 - (’4W’: J
(1(’
& ST € f aifusan &dd ufasd (shear sllms)
O m i (I ~ WR d

; — %
372 ndbm2 2
sfershed e e, @ = 1OWR

nd”

. poedier R & fog fafafed &) @ o AR O
() foasfa s, (i) ST 1 Geferet,
(i) TERT gerehies, | Q (2015)
(iv) T T, (v) 3 eFEl ! »
Define the following terms for helical spr
(i) Resilience (ii) Stiffness ii) Spring Index
(iv) Free Length (v) Solid Length %
3JdT (i) ﬁqfﬁ it Resilience fomfa & srRw E}‘ o1t fapfa 91 (resilience)

Wﬁ%laﬁmmﬁruﬂ@ﬁenﬁg
T T T FA I, E =2
TxQ—'l (v, 0= 2L
Z r.G ‘ r.G
JxQx_'l (aﬁrﬁr_ﬂ

QxQxl

Wmmm(res e |
b £ =1L (o)
(ii) d3M a1 ifiness  Tom ¥ gehTd faenme & fotu straveres 5
91 1 IGH Fed ¢ 38 farr-av, fam-weher, grvaen au r.
A S S 2 T
J fom # fawar § € €, s1ea |
s=" T W,
Col , =% T/w L
354 % Tl AB form W wR woagn fawed § W W e — _
T ww wefid Fd 2l a_g:j;—o\\;
ﬁ%’iaaawmﬁuﬁ:f@ﬂmww,ﬁawwz@am%m s 5.4

SeEEy fo & sifaRea o & ¥ €, @@ fi &1 e,




G Wo-W Wy Wy (el 8, =8, +8)

& dy O i
(iii) ﬁhﬂ.%ﬁpring Index fisr veeh % aifgq = p @ AR % A d F ST 1
S fom g=ehis,  C =%

(iv) T A8 Free Length ddteq fam & foru 3@
A A, Ly = L, +,

SFE, L, = 9N w%nwﬁﬁmaﬁnﬁzﬂm
Sy = TR W & &1 foemys = fadm .
(v) BN TTRT§ Solid Length afs fonm ar st =1 d @41 Foeferii & ng, a9 for H

BBIHEW'I'SE, L, =dxn
. AT & fg wiste gea & veY # fifag, mﬁséWﬁmﬁlmm

Write the rigid expression for spring while th concerned in series
and parallel

34T Aol g fBRT Series Composite Spring $aH 8141 SifE® Foeeiar &,

Fagﬁvﬁ'wﬁ ﬁﬂﬁﬁﬂéﬁﬁffq (resistances) %! g, 'ﬁ%@ 5.5% ATEN)
SR TF O W R Gy fom ™ R % awer 2 o

o 5.5 ¥ < f&rt 1 79 2 9ot & Sreaw wy= 9 W W AR o0 21 3H

o H vIF oM W w IR @ e 2

T o =1 fowem, 8=3 +.one ) h
ST, 81 8g0nene aﬁﬁmﬁ%ﬁw%n Q

= 82=—... . f 5.5
% 55 By .

S1 S
W'\‘Tga'ﬁ IComposﬁeSpnng O <1 1 3fees T, foeqa aftuy ¥ TR wfaas
6%WIWWWWWWW%WW%W
wwm%aﬁxsﬂﬁ?wl Wa, Ws.. wﬁmﬁfwﬁmﬁmwﬁ&mﬁ%m
W =W + Wy + .. (i)
mmsawﬁmma%aﬂ?ﬁfwﬁm F BT AT S, S, %1314??"

T g :
& 1 foreamaa ot 5 & &, <
qcTh w w
S=—,8 =21 =2 2
5 51= 582 = .oTfe
. ' w=sa,w1=sla,w2_sza...awrﬁ:



FHIOT (i) ¥ 99 @ W,
S0 =510+SP+ ...
0 8 =8 + 8o ...

Uesl 13. & §< PUSier 8T 6 mm A @t IR &1 791 2| TS puesel! H1 3Td 8em T
pusforal 7t Feam 12 81 afe siftrean e ufdad 315 MN/m? @ 3R G = 84 GPa®,
ot R & forg siftreaw srafta wR aut faeumes w9 Fifvm)

A closed helical spring is made of 6 mm diameter wire. Its coils averages
8 cm and the number of coil is 12. Find the maximum axial load and

displacement for spring if the maximum shear strength is 315 MN/m?*
and G = 84 GPa.

&al fear 2, d=6 mm, R=§=4 cm =40 mm, n =12
G =84 GPa = 84 x 10° MPa = 84 x 10°N/mm?
asn Q =315 MPa = 315N/mm?2
16WR ~ ,
Q‘: H,
BEl r:
3 3
AEEF 97, w=Qd _S15XmX6" _ 494 N
16R 16 x 40
3 -
ﬁ.b_{.ﬁ.i8=64WR Tl.g,
Gd*
3
e 5 _ 64 x334 x40 X12 _ 904.8 mm

84 x 10% x 64



122, 3§ T e 7 s i )
Vhat are you understand by key? Tell its usage.
3’%%@wwag;ﬁ’iﬁﬁ%@ﬁﬁﬁ%%mﬁﬁmawﬁmﬁ%ﬁwﬁmﬁmgl’ﬂ
m%aﬁfwm'é IR R N W W @ 7w (hub) st o e, T
e 1% & ) o1 1 A 1 7 e Fvl fr, e gtz 7 1

N N, &9 a9 TR F yre :
T TR | TWE ZGR F@ ) " Eﬁamﬂa"ﬁ”ﬂmé'w@« e S A 3

ﬁimﬁwwﬁm,w,mﬁn,ﬁz,ﬁmamzﬁz § w0 W2 I 2
@Tﬁ%@’mmwamwﬁﬁaﬁwﬁ% = ST ST ¥ IR & e T
-@_‘_’" Ffl W2 (key seat) qIT &S R HleT T @i ol , tkey way) FEET 2|
Wm*ﬁﬁmﬂ%ﬁ%m,ﬁﬁ@m(mo(gb; n) 99 HIEAH FHTEA 3EAE q4T FE
ST €1 WY SR T3 T F1 A v .
[ 23. POl 9T PleR § 3R TA=RT| (2001, 02)
Discuss the difference btwee and cotter.
IdT {Wawmﬁxﬁwﬁmﬁﬁﬁ
() Feal wwe oarg % TR, 3T I HY & TEEY AT TG B
(i) HeaT TIg YR v @ 2, T 1 HiteT sl 1 uRfid FT 2
(ii) Fo1 ERT WS T 3 ® Sefer ST &1 g9 § U@ F&1 2l
7 24. ot & S B qufq i) (2000)
Describe th of designing of the key.

JaT  ofe frd e d? 3R 58 T ol mivd Fdt 2, @ I F iy w w9 e

9, \
& po T 2T
d2 d

wﬁﬁm}@wﬁwmmméﬁ%,mﬁﬁw?amw,mm
Hom wfqee foran 0 2
fom 5.7 % 7R A1 foh ot Y Fe1 WISt AW | h/2 TR F ST/ T h/2 79 F 1< ¢ 3R F
# Hreré b dg1 o 12

T




h/2

h/2

|
Q—= N

3 5.7 a3 5.8
3Td: A I oY FA el FHol 1 ATHe = [ x b

W, 9 F 2l . @

zafer st H e WW,&:%@L

dxIxb

Wﬁmeﬁwﬁ%@Wﬁﬁwﬁmm|
79 ol 1 I Fe el S =leth

e T S, ) AR e 25 h/2=dx4lT><h

AR £ 1 a8 TH oFf Feit o, Qaﬁqmﬂmﬁaﬂmﬁmml

gﬁﬁmm%mwi%g} 3ITH! AN T F I S, fR 39 T ) e 9 39y 30

Hfcerell <1 wieror foRan
FSt F AN FA %W%quwwm%aﬁ?dwmm%,aa

o \0_ 1231(+13ﬁ1ﬂ
{& h = qo 1=

6
R Y o AN FEA W SHSA qmed w9 @ S 2, o
40% T 3tfaess Toi & foau fesmea =it wmh 2

|~

K

N | W

TIHI: FMH SATEvTeh JH1S 5oi 9 25 9



&, ufet #t Iuafar sagu|
Explain the utility of coupling.

ST 9 9 S DI G AT ST ST WeiA) St el Sl el el ], A 3Tk fer Hufer @
TN R ST R ST TR 7 el ¥ a1fuek ofars s el o918 St 3afere 399 1 orvad it
STl % feru o FUferT 1 WA HTH Q1 WS I SIS Il 21 3H FHR S W IR uw &
T 1 HTH FA 1 T SE! ST Aol TR i 3187 Ueh € 3181 W A fir=T arad T I T

ot ) Gedt S| Td: STEATAHA F SMHR T 9= FehR 1 el FAT i St 21 sfas
Fafe ot & & S
TS HUfRT &) gHNSY|
Explain the flange coupling.
3T Felst pufer Flange Coupling Wk ETHT hufeiT % 3R 3G | g1 9icd % a4r

Fimfor 3 ot %W e 7T 81 39 HUCH § 1ef A Hvig orew T T g HUfc Fad
3R THF R AHR) HI Sred F fau a8 9w & fF S I Freftg qeo i Gt T 8
S8 st & foafin qen wufe w sifafiea oo 7 B

o 5.9 % STTER 39 wufelm ¥ <1 9 B © 9= wois Fed o FAS Teh-Teh TP o o o
ST G T TEdt 21 S Tl oM W Wiedl BRI (St At o wisll  Ofe g 92
T B 39 TS 1 9RET 9 AT (projection) F €9 F I W siee R a9 feafta
TH @ 3R e % st qoi ween &1 v wwe) feTT T W IR I T FeAS
H T 10 forft SRt T S @ A e e et JTTHR IHR GO TAST & TR
T H e a0 e o @ S 2
S LS
e
AN
o N

y qzq%a IR HUfHT e F1 Mfyder THeRT| (2011)
Explain the m of coupling bolt for rigid flange coupling.

k1o cANE T Uk ST il 1 STHES BT TS B € | SIS W Hd § orgwe
aznaﬁ«??m | SR BT 3TfE ol W foa=r fa s R Bl
:}i;ﬂ | M W g faEmr )
3| M foh ST 1 =419 d, diee &1 &9 d AN ITH WA 0, Aee § 37
A ammﬁnmwﬁﬁamaﬁwwgﬁzmrque)r%n ‘



TS Mg W AfHan Fdd 9o :%dlzxfs

59 YT Siee gRT URMNG fRan T stfusan s gof = _dleSXQ

ST, D = 9ice. U= 99 1 =™
urﬁawi%mﬁnaﬁ?ﬁaﬁ%wfmwv&ﬁaﬁmwww,

T—n4d1 Xf:s

| D
; ;;@Qﬁgﬂ
mmm@ﬁmwmmmwmémw i 1 S FHA 2

Wm@%aﬁuﬁamﬁfwmﬁq

T\ Q@%\ .

2

néﬂﬁth'm‘:%d
gd Hi TR = =
aredl &1 Al n =3(d=40mm & & A

n =4(d=100mm'€ﬁﬁa¥ fe)
n =6(d=180 mm dh & foo)



ues 33. 319 auU @raa e 1 3ifiweua s (2011)
Design a solid and hollow shaft. ' _
JTX (i) " & TR G On the Basis of Strength 788 37T e S ( f,) fem =1

Tinax _ fg
J R
S IMIT Soild Shaft
Jp =

' 16T,
@rEe ﬁ&w shaft
_ T4 4
Jn =5 (D" - d")




L

HAL, D=ndd9l n > 1

max = .| 5

16| nd
n o QO
d 2[16><Tmax xn:‘

[ 4.4 4
n d'-d
n ]fs

ﬂ:(n4 -1)x % ¢
(ii) YPIR @1 & MR W= On the Basis of Torsion Rigidity %, ¥ " a3 2
Imex 2P @ (I T )
J L
J = Trax / I
. 0. G
/// O ES
SR ¥MIE Solid Shaft : o o // o

dS4
K_\ = 5.12
' Tu %L
62 - Ge
6 [32TmL]1/4 .
ds =
9 GO
@Earsmz
T 4 _ 4
== (D%-d
\ g =55 0" -~
D =nd

T (n4 -1y =ml
-3 32 GO

L[ 32Tl e
n(n* -1 xG




- ™ TRYM gfcrea Ry @ a9mae 3k Sudh 3 R garee gaEmEu (2017)
JUT WU Rfewhel fT Helical Torsion Spring  TRIE 2fersket fom, famr 5.13 % wefdid &, T,

HAAAHR YT FHR dR & oFF 4 ¢l 2fether heT qo

TS FOT % THE € 3TH AT (wound) ST B W ST R

1 TH AFR G S & S 2rh (semel) mfvd @) 2

Wﬁﬁm&m?ﬁ?mwuﬁmmaﬁ%,mmaaﬂ'}_

Tated form ¥ wfqedt, Wie w47 wioee 219 3 Y
- T e o g 8R HFITSLUTF (small torques) %! TRYT HTA ._L

%W%%IW%W,W%W(doorhinzes),1"?12'{'3( %5.14#%%‘%%1‘%@

9 Bleet (brush holders in motors), 347?3'@313?[ LA R (auto mobile |

starters) el
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